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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4151191601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The current flowing through an element containing a charge of g Coulomb for a time of 7 second is given by:
Options :
1 #® qr

dq
o e dt

1

o R qt

dt
4 % 49

Question Number : 1 Question Id : 4151191601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 & q'r

dq
o dt

1

= & qt
dt

4 % 49

Question Number : 2 Question Id : 4151191602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine C.q in the given circuit.
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Options :

5 ® {:eq=11THF
- x Ceq=4UF

Question Number : 2 Question Id : 4151191602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
n Ceq =4 mF
o % Ceq = 11.7 pF
2 % Ceq =4 IJ.F
4 ® Ceq = 11.7 mF

Question Number : 3 Question Id : 4151191603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the current flowing through a 10 k{1, 1 W resistor?
Options :

1 #% 1mA

> % 0.1A

s « 0.01 A

E 1A



Question Number : 3 Question Id : 4151191603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

10 kQ, 1 W ity & & foraeit urr garfed grefr?
Options :

1 ® 1T mA
o % 0.1 A
- v 001 A

4.W1A

Question Number : 4 Question Id : 4151191604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The law(s) that is/are defined on the basis of principle of conservation of charge is/are:

Options :
, = Kirchhoff’s Voltage Law (KVL)

- % Ohm’s law

-  Kirchhoff’s Current Law (KCL)

4 % both KVL and KCL

Question Number : 4 Question Id : 4151191604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 5 Question Id : 4151191605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Find the voltage at node ‘a’ in the given circuit.
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Options :
1 3 Va = 8 1\«"'

2\“-"? Va=161\;
3.% Va:321v'

4.% Va=31'u'r

Question Number : 5 Question Id : 4151191605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
, % Va=8YV
> Va=16V
= 3 VQZBZV
4 % Va=3V

Question Number : 6 Question Id : 4151191606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A source transformation is the process of replacing:

Options :
1, *

a voltage source (v;) in parallel with a resistor (R) by a current source (i) in parallel with a resistor (R)



g *
a voltage source (V) in series with a resistor (R) by a current source (i.) in series with a resistor (R)

S
a voltage source (V) in series with a resistor (R) by a current source (i) in parallel with a resistor (R)

4 %
a voltage source (V) in parallel with a resistor (R) by a current source (i) in series with a resistor (R)

Question Number : 6 Question Id : 4151191606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 7 Question Id : 4151191607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The relation between permeability (1) and reluctance (S) is given by:
(Where [ is the mean length of magnetic circuit for flux. and « is the area of cross section available for flux.)

Options :
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Question Number : 7 Question Id : 4151191607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 8 Question Id : 4151191608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a series RLC circuit, if the magnitude of the voltaze drop across B, L and C is measured to be 30 V each, then the
magninile of the supply voltage 1o the circuit will be:

Options :
, % OV

5« 30V
2 % 60V

4 % 90V

Question Number : 8 Question Id : 4151191608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 & oV



5 v 30V
2 % 60V

L% 90V

Question Number : 9 Question Id : 4151191609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A balanced 3-@, star conmected AC generator generates a phase voltage of magmtude |[Es| = [Egl = [Eg| = 100 V. If the
connection to one of the phases 15 reversed, what will be the magmitude of the line voltages?

Options :
; % [Eal=[Ep[=[Ec|=173V

> % |Eal=[Ep| =[Ec/|=100V
-  [Eal=173 V and [Ep| = [Ec| =100 V

, % [Eal=|Eg =173 Vand [Ec|= 100V

Question Number : 9 Question Id : 4151191609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

U e 3-p, TN #Ofad AC ST |Ep| = |Eg| = |E¢| = 100 V Sf@mwr #1 &F Sees 309
FT g1 e FoF o TRET T Uil @ heldRle 30 6T ST, ol WIS afceel @l SILATOT &4T grem?
Options :

, = |Eal

|IEgl = |[Ec| = 173 V

- = |[EAl = |[EB| = [Ec| = 100 V

. « |EAl = 173 V #K |Ep| = [Ec| = 100 V

100 V

. » |Eal = |[Eg| = 173 V 3R |Ec|

Question Number : 10 Question Id : 4151191610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The loss angle of a capacitor can be accurately measured by:
Options :
, % Carry Foster Bridge

- % Anderson’s Bridge



- » Kelvin’s Double bridge

4  Schering Bridge

Question Number : 10 Question Id : 4151191610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 11 Question Id : 4151191611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a 3-¢ induction motor, the ratio P;: P, : Py is equal to:
(Where P; = Rotor Input, P. = Rotor Copper Losses, and P, = Gross Mechanical Output)

Options :
; % 8:(1-8):1

- % 1:(1-8):s
5 o 128:(1-5)

4 % (1-8):1:s

Question Number : 11 Question Id : 4151191611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 12 Question Id : 4151191612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The synchronising torque T, of an alternator connected to an infinite busbar is given by:
{(Where E 15 the generared EMT. X, 1s the synchronons reactance. @ is the slot angle and N, 15 the synchronous spead)

Options :
28.64aE? N
< = e AN
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 13 Question Id : 4151191613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For voltage regulation of the transmission lines. synchronous motors are used as:

Options :



. % stroboscopic device
-  Dbower factor correction device
- » timing device

, % beltdriven reciprocating device

Question Number : 13 Question Id : 4151191613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 14 Question Id : 4151191614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is a power plant with high initial cost, low rumning and maintenance cost and with NO standby
losses?

Options :

. w Diesel power plant

- % Steam power plant

5  Hydro-electric power plant

, % Nuclear power plant

Question Number : 14 Question Id : 4151191614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 15 Question Id : 4151191615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of motor is NOT used in Kiln Drives?
Options :

, % DCmotor with transformer step switch control

-  Synchronous motor
- » Slip-ring induction motor

4 % Ward Leonard controlled DC motor

Question Number : 15 Question Id : 4151191615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 16 Question Id : 4151191616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In electroplating of gold. what quantity of plating solution consists of 18 gm of potassium gold cyanide?
Options :

1 ® 100 cm’

> « 1000 cm’



= % 10 cm®

4 % lcm’

Question Number : 16 Question Id : 4151191616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. % 100 cm?

o « 1000 cm?

- % 10 cm?

4 % 1 cm?3

Question Number : 17 Question Id : 4151191617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Reduction factor is given as:
(Where M.S.C.P. 1s mean spherical candle power and M.H.C.P. is mean horizontal candle power.)

Options :
M.S.C.P.
. v M.H.C.P.
MSC.FP= (1 : )
S M.H.C.P.
MHC.P.
= % M.S.C.P.

4 % M.H.C.P.x M.S.C.P.

Question Number : 17 Question Id : 4151191617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

M.S.C.P.
. v M.H.C.P.



1
MSCF= (1 —)

o % ~ M.H.C.P.

M.H.C.P.
= % M.S.C.P.

4 % M.H.C.P.x M.S.C.P.

Question Number : 18 Question Id : 4151191618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How does temperature rise affect the resistance of a good conducting material?

Options :
, « Resistance of the material increases almost linearly

- % Resistance of the material increases almost exponentially

- » Resistance of the material decreases almost linearly

, % Resistance of the material decreases almost exponentially

Question Number : 18 Question Id : 4151191618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 19 Question Id : 4151191619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine the equivalent inductance (L.4) for the given circuit.

3 mH

Lid
— |
i




Options :

| % Leg=1.8mH

, x Leq=14 pH

« Leq=1.8pH

L

, o Leq=14mH

Question Number : 19 Question Id : 4151191619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T sv 99y & T Aged 9T (Leg) AT HITAT|
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Options :

i« Leg = 1.8 mH
. w Leq = 14 pH
.« Leq = 1.8 pH
, » Leq = 14 mH

Question Number : 20 Question Id : 4151191620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Deetermine ihe resistance of a 100 £t length of copper wire with a diameter of 20 mils. Assume resistivity p= 1037 CM- 01/
Options :

| % 41480

> % 5290

s % 48410

4 o 2590

Question Number : 20 Question Id : 4151191620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



20 mils <ITg ITer 100 ft o1 919 & d 7 Iy 7 Sev| AT o & gfatesar
p = 10.37 CM-Q/ft gl

Options :

| % 4148 0
. % 529 0
. % 4841 0

4 ¢ 2299 0

Question Number : 21 Question Id : 4151191621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For the given Norton equivalent circuit, determine the Thevenin voltage (V1) and Thevenin resistance (Rty).

il

*
—
—_—
-

Options :
| % Vig=3VandRry=20

» v VIH=6VandRrg=20

- % ViH=2VandRrg=60

, % VE=2VandRrg=30

Question Number : 21 Question Id : 4151191621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

%« VTH=3V3RRy =20

o VIH=B6V AT Ry =20



6 0

S % V1 = 2 V 3T Rty

3 0

4 ® V1y = 2 V 3T Ry

Question Number : 22 Question Id : 4151191622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Maximum power transfer occurs when the load voltage and current are:
Options :

| % 1/3 of their maximum possible values

o % 1/4™ of their maximum possible values

,.'S'L'h

o % /87 of their maximum possible values

4  1/2 of their maximum possible values

Question Number : 22 Question Id : 4151191622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 23 Question Id : 4151191623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine V4, in the given circuit.




Options :
| @ Vap=15V

% Vap=165V

2
- % Vi =90V
L% Vab=75V

Question Number : 23 Question Id : 4151191623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

o % Vab = 165 V
2% Vab =9V

4 W% Vab = ?5 V

Question Number : 24 Question Id : 4151191624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The statermnent “In a closed loop of an electric cireuit, the algebraice sum of the EMFs 15 equal to the algebraie sum of the
potential drops™ comesponds 1o

Options :
, « Kirchhoff’s Voltage Law (KVL)

- % Ohm’s law

5 x Kirchhoff’s Current Law (KCL)

4 % Lenz’s Law



Question Number : 24 Question Id : 4151191624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| BT F aeedr HEA (KVL) &
x WH & FIEE

. « TS & arr AT (KCL) &

Question Number : 25 Question Id : 4151191625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine [q in the given circuit.

SmA § L 10 mA

S

-4 MmA

—_— nE.‘x

Options :
, & [1=5mA
, w 1=39mA

. v l1=-5mA

. % l1=-17mA

Question Number : 25 Question Id : 4151191625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



few v gftay & I; 79 fifsw

SmA 4 L 10 mA

I
a-—d4 mA

O mA a— —d mA
.
THlll.\
Options
, = 11 =5 mA

- % 11 = 39 mA
v 11 = -5 mA

4 % 11 =-17 mA

Question Number : 26 Question Id : 4151191626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ampere turn (AT) is the unit of which quantity?
Options :
1 % Flux

> % Magnetic flux density
5 « Magnetomotive force

, % Magnetic field intensity

Question Number : 26 Question Id : 4151191626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 27 Question Id : 4151191627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A coil of 500 tums 15 wound over a circular on ring of diameter 20 em and area of cross section Iom®. It produces a
flux of 0.5 mWb when camrying a current of 2.09 A, Calculate the permeabality of the matenal.

Options :
. % 8.334

o % 83.34
- « 833.34

4 % 8333.34

Question Number : 27 Question Id : 4151191627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3 em? HAYEY FE F G AT 20 em =W $ Feaen Ay PR 9 500 K Fr oF FEer aud
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Options :

| % 8.334
. % 83.34
- v 833.34

. = 833334

Question Number : 28 Question Id : 4151191628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two coils X and Y of 230 and 240 turns respectively share a common magnetic circuit of mean length 0.8 m and
uniform area of cross section 100 cm?. Determine the mutual inductance between the coils if i =1110.

Options :
. v 0.962H
> % 2.691H

- % 6.962H



4 % 9.162H

Question Number : 28 Question Id : 4151191628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

230 T 240 37 e & =l X HR Y FAw 0.8 m AT wEd AN 100 om? F TEEAW FEEEY
FE F HIFE T UF INTETS TEET T F A FA {1 G FEea & 69 3 W 7"
$ifew, afr = 1110 3

Options :

. v 0.982 H

. % 2.691 H
. % 6.962 H

L % 9.162 H

Question Number : 29 Question Id : 4151191629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An airplane has 6.1 m wing span and flies at 200 km/h. The vertical component of the magnetic flux density of the
earth’s magnetic field is 50 pT. Determine the EMF induced between the wing tips.

Options :

| % 6774V

o o 67.7TmV

L % 76.7 UV

4 % 76.7TmV

Question Number : 29 Question Id : 4151191629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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JaRT HHAE Gded F Fed geF 50 uT g A 9@ A A F g9 9fg EMF Fe Aifem

Options :

% 67.7 v
. v 67.7 mV
. % 767 pV

L % 76.7 mV



Question Number : 30 Question Id : 4151191630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The relation between mutual inductance (M), self inductance (L) and coefficient of coupling (K) is given by:

Options :
K
M=—
= W LlLE
M K
o W LlLZ

Question Number : 30 Question Id : 4151191630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

v M=K JLL,

K
M=
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Question Number : 31 Question Id : 4151191631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of the maximum value of an alternating signal to its RMS value is known as its:
Options :
, % Dpitch factor

> « crest factor
= % distribution factor

4 % form factor



Question Number : 31 Question Id : 4151191631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 32 Question Id : 4151191632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

he phase impedance of a balanced star connected load 1s 2, = 40 + j30 1. What will be the phase impedance of the
equivalent A -commected load?

Options :

% Zy=40+j300
o v Zy=12047900

. % Zy=(40+j30)xV30

. % Zy=(120+j90)/30

Question Number : 32 Question Id : 4151191632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

% Zy=40+j300Q

o v Zy=120+7900

. % Zy=(40+j30)x V30

. % Zy=(120+j90)/30

Question Number : 33 Question Id : 4151191633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The frequency of oscillations in a tank circuit is:
Options :
,  mversely proportional to L and C

- w directly proportional to L and C
- % inversely proportional to L and directly proportional to C

, = inversely proportional to C and directly proportional to L

Question Number : 33 Question Id : 4151191633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 34 Question Id : 4151191634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The unknown resistance in Kelvin’s double bridge is given by:

(Where Errorﬂ.=E—§ )

Options :
X—-P.S'—l— gAr ]
L 1] p+q+r.
Xz-—S— qAr ]
o % Q p+q+r.
ol S,
5 # Q p+q—rl




P q
X=[—.S'——]
4.% Q p_]_q_]_T

Question Number : 34 Question Id : 4151191634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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& o
Options :
X—[PS+ i ]
| ) pr+qg+r
X—- gAr ]
5 % L) p+q+T.
b I ST
o # -Q p+q—T_

P q
X=[—S——]
4_% Q p_]_q_]—T

Question Number : 35 Question Id : 4151191635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is a Megohmmeter used to measure?
Options :
1 % Low value of resistance

- % Medium value of resistance

-  High value of resistance

, % High value of capacitance

Question Number : 35 Question Id : 4151191635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 36 Question Id : 4151191636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A voltage of V = 150.£60° V 15 apphied to a load which carmies a current of [ = 50£30% A, The complex power supplied
1o the load is:

Options :

. @ S=7.5230°KkVA

5 % S=7.5290°KkVA
s % S=3£30°kVA

4 % S=23£90°KkVA

Question Number : 36 Question Id : 4151191636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF AT 97 UF Seea V = 150260° V 79T F1aT F, OEE 41T | = 50230° A 99T A6 {1 S A
A Fe T w@eRs oS (Feaww Ti97) e 37

Options :
. v S = 7.5230° kVA
. % S = 7.5,90° kVA
. %« S = 3230° kVA
L % S = 32,90° kVA

Question Number : 37 Question Id : 4151191637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is Hay’s bridge used to measure?
Options :

, » Inductance of low Q value

-  Inductance of high Q value

- % Capacitance of low Q value

, % Capacitance of high Q value



Question Number : 37 Question Id : 4151191637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| % =TT Q AF T Racd
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Question Number : 38 Question Id : 4151191638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 250 V moving iron voltmeter takes a current of 0.05 A when connected to a 250 V DC supply. The coil has an
inductance of 1 H. What will be the reading on the meter when connected to a 250 V, 100 Hz supply? Assume

impedance at 100 Hz to be 6000 ).

Options :
, % 248V

5 o 20833V
2 % 28033V

4 % 284V

Question Number : 38 Question Id : 4151191638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TF 250 V I9-3lg (AfE-3ET) Sieediet, 250 V DC AT § Fee Hi9 W 0.05 A U ST
o &1 WS 1 H #1 5@ 3 250 V, 100 Hz 3R # Fafaa o sman &, & gwe arears &
ger? 100 Hz <7 widamr 6000 N & =)

Options :

| % 248 V

. v 20833 V
- % 280.33 V

L % 284 V

Question Number : 39 Question Id : 4151191639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the number of parallel paths of a 4 pole duplex lap winding?



Options :
1. 8

2_%5
3_%4

4.%2

Question Number : 39 Question Id : 4151191639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
1 ¢ 8

2_%6
3.%4

4.%2

Question Number : 40 Question Id : 4151191640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why is a starter necessary to start a DC motor?
Options :
, w Because it has zero starting torque

» % DBecause at start, back EMF is zero
- » DBecause it has high starting torque

4 « Torestrict high inrush current

Question Number : 40 Question Id : 4151191640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 41 Question Id : 4151191641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of DC generator is used in power shovel drives?
Options :
. = DC series generator

5 % DC shunt generator
-  Differential compound DC generator

, % Cumulative compound DC generator

Question Number : 41 Question Id : 4151191641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 42 Question Id : 4151191642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 10 hp, 600 rpm DC shunt motor draws a line current of 18 A at 500 V. Determine the efficiency of the motor
assuming 1 hp =735.5 W.

Options :
| % 78.1%
5 % 71.8%

s « 81.7%

4 % 82.8%



Question Number : 42 Question Id : 4151191642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

7% 10 hp, 600 rpm DC 2 AT, 500 V 97 18 A I oiEd 0T &40 21 1 hp=?35.5anﬁ'§n
AT @ T8 AT #if=AT

Options :

. % 78:1%
> % 71.8%
2 v 81.7%

L % 82.8%

Question Number : 43 Question Id : 4151191643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determineg the ratio of weight of copper in an antotransformer and a two winding transtormer if the transformation rabio
15 5,

Options :
1 ® 3

5> o 0.667
o ol

4 ® | B

Question Number : 43 Question Id : 4151191643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 & 3
. « 0.667
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Question Number : 44 Question Id : 4151191644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The voltage regulation of the transformer will be negative when the power factor angle (¢) is:

Options :



i R)
({JZE(IH o
o W
i R
(.I.'J"‘-:: tan (})
5 ®
s % @>0

Question Number : 44 Question Id : 4151191644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 45 Question Id : 4151191645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A Y-A transformer bank CANNOT be paralleled with either a Y-Y or a A-A transformer bank because the phasor
voltage difference between the two systems would be:

Options :
, % 0.25 times the secondary voltages
5 % 0.75 times the secondary voltages

5 o 0.5 times the secondary voltages

4, = equal to the secondary voltages

Question Number : 45 Question Id : 4151191645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 46 Question Id : 4151191646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of winding is suitable for HV winding of a small transformer?
Options :

; w» Sandwich winding

-  Cross-over winding

- » Continuous disc winding

, = Helical winding

Question Number : 46 Question Id : 4151191646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 47 Question Id : 4151191647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a 3-phase induction motor, the maximum torque under standstill occurs when the rotor resistance (Ra) is:

Options :



. equal to leakage reactance (X +~ X»)

- » greater than leakage reactance (X; + Xjp)

- % lessthan leakage reactance (X; + X»)

, % almostequal to X - X3

Question Number : 47 Question Id : 4151191647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| 80T FfAEnE (Xq + Xp) & S
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Question Number : 48 Question Id : 4151191648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 3-0. 50 Hz, 6 pole induction motor has a slip of 3%. What will be the speed of the motor?

Options :
| % 1440 rpm

5 % 1000 rpm

- % 1300 1pm

4 970 rpm

Question Number : 48 Question Id : 4151191648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

U 3-¢, 50 Hz, 6 ¢ ST Aler $ Toa 3% g1 Ay @ a1 Far g

Options :

. = 1440 rpm

-, % 1000 rpm



- % 1500 rpm

4 v 970 rpm

Question Number : 49 Question Id : 4151191649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Braking action occurs when the slip of the induction motor is:
Options :
1 % between 0 and 1

- % equaltol
-  greater than 1

4 % lessthan 1

Question Number : 49 Question Id : 4151191649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 50 Question Id : 4151191650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a 3-phase induction motor. the rotor induced EMF per phase (E,) is equal to:
(Where E,, is rotor induced EMF at standstill and s is slip)

Options :

.« SE,



4 ® SE‘J"

Question Number : 50 Question Id : 4151191650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 51 Question Id : 4151191651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a 3-phase alternator, weakening of the main flux due to armature reaction results in:

Options :
1 % l.lnlf}’ power factor

-  Zero power factor lagging
- % zero power factor leading

, % intermediate power factor

Question Number : 51 Question Id : 4151191651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 52 Question Id : 4151191652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A synchronous machine:
Options :
, « delivers lagging reactive power to the system when overexcited

w delivers lagging reactive power to the system when underexcited

2

- » draws lagging reactive power from the system when overexcited

, % draws leading reactive power from the system when underexcited

Question Number : 52 Question Id : 4151191652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 53 Question Id : 4151191653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The auxiliary motor used to bring synchronous motor to near synchronous speed should have how many number of
poles as compared fo the svnchronous motor?

Options :
» Half the number of poles of the synchronous motor

1
- % Iwo poles more as compared to synchronous motor

- « Equal to the number of poles of synchronous motor

, % Four poles more as compared to synchronous motor



Question Number : 53 Question Id : 4151191653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 54 Question Id : 4151191654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Under the condition of fixed V, R, and X; the maximum power developed by a synchronous motor is given by which of
the following expressions?
(Where W is supply voltage, R, 15 armature resistance, and X, is synchronous reactance.)

Options :
VE
P = —
4R
P ==
o % (m)max 172
1
P =
3- “ (: m)max 4V2Ra
R,

P —
4 % (m]max A2

Question Number : 54 Question Id : 4151191654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

P




4R

P =—=
o % (m)max VE
1
P, =
R
P . a
4 % (m)max 4V2

Question Number : 55 Question Id : 4151191655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To operate two alternators in parallel, which of their quantities must be same?
Options :
, = Active power

- % Power factor

-  Phase sequence

4 % Reactive power

Question Number : 55 Question Id : 4151191655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 56 Question Id : 4151191656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The type of tariff in which a consumer is penalised or given discount when the power factor falls below or above the
reference value respectively is:

Options :

1 #% flat rate tariff



-  sliding scale tariff
5 % two-part tariff

4 % maximum demand tariff

Question Number : 56 Question Id : 4151191656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

=& ufEa U HEH AW F FH A far @ @ I F A A # e 9w & R (3
& HTUR 97 S9RIGAT ST S[ART SO ST § A7 e & S §7

Options :

AT gT-gET

1 %

- Sgeld ST Aol aX-gEr
.y -SRI ET-EE

. Hieras AleT gT-gA

Question Number : 57 Question Id : 4151191657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fusing factor value is always:
Options :
, % equaltoone

- % lessthan one
5 « more than one

4 % equaltotwo

Question Number : 57 Question Id : 4151191657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 58 Question Id : 4151191658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum economical voltage range for a vacuum circuit breaker is:

Options :
|« 36kV

5 % 400KV
5 % 200KV

4 % 22KV

Question Number : 58 Question Id : 4151191658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| v 36 kV
o % 400 kV
- % 200 kV

L ® 22 KV

Question Number : 59 Question Id : 4151191659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of arrester has the following assemblies?

a. Series spark gaps
b. Non-linear resistor discs in series
Options :

, » Rod gap arrester

> % Multi-gap arrester

- » Expulsion type arrester



4 « valve type arrester

Question Number : 59 Question Id : 4151191659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 60 Question Id : 4151191660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bundled conductors are used to:
Options :
. % reduce regulation

-  reduce corona discharge
- % reduce line capacitance with respect to ground

, % Teduce total weight of the line

Question Number : 60 Question Id : 4151191660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 61 Question Id : 4151191661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which type of furnace suffers from pinching effect?
Options :

, % Coreless type induction furnace

> % Ajax-Wyatt furnace

- w Indirect core type induction furnace

4 « Direct core type induction furnace

Question Number : 61 Question Id : 4151191661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 62 Question Id : 4151191662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Determine the number of lamps required to illuminate a room of area 200 m? to a level of 310 bx. Assume utilisation
factor = (L.6. maintenance factor = (.63 and the lumen output of each lamp = 2850 Im.

Options :
| 58 lamps

5 % 48 lamps

- % 30 lamps

4 % 28 lamps



Question Number : 62 Question Id : 4151191662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. 58 ot
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Question Number : 63 Question Id : 4151191663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A JFET has the following parameters: Viggiam 7 — 8 V. Ipgs = 30 mA. and Vigg = ~ 4 V. The drain current will be:

Options :
. % T5pA
> o T.5mA

= % 5.7mA

L % STpA

Question Number : 63 Question Id : 4151191663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

wH JFET & feataiaa A9eE & Vaspm = -8 V Ipss = 30 mA, 3T Vgs = -4 V 39aw (&) ur
et gefr?

Options :
i w78 pA
. v 7.5 mA

- % 57 mA

, % 5.7 pA

Question Number : 64 Question Id : 4151191664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Determine Ij; in the given circuit.

D, 10 k2
DF—+— W\
S om -F--., e If.l

Options :
1 % 0.07mA

> o 2.72mA
z % 2.65mA

4 ® 2.79mA

Question Number : 64 Question Id : 4151191664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

few v ofmy &7 Ip; = Furer Hifsw)

D, 10 kQ
DWW
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I5V = - z”:
Ipy

W
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Options :

. % 0.07 mA
o« 2.72 mA
. = 2.65 mA

L % 2.79 mA

Question Number : 65 Question Id : 4151191665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Ideal diode is characterised by:
Options :
, w Infinite knee voltage

- w infinite average AC resistance

5 #  ZCI0 Ieversc resistance

4  Zero average AC resistance

Question Number : 65 Question Id : 4151191665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 66 Question Id : 4151191666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a eommon bhase connechon. if the emmitter current 15 2 meA and eollector current 15 1.9%5 mA, then the base current will ha-

Options :
1 #% 3.95mA
-» % 1.02mA

z o 0.05mA

4 % 0975 mA

Question Number : 66 Question Id : 4151191666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| % 3.95 mA

= 1.02 mA



- v 0.05 mA

. # 0.975 mA

Question Number : 67 Question Id : 4151191667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When does a transistor work as an inverter?
Options :
, % When operated in saturation region

- % When operated in cut-off region
-  When operated between cut-off and saturation region

, % It does not exhibit switching property in any region

Question Number : 67 Question Id : 4151191667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 68 Question Id : 4151191668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The stator of a split phase induction motor has main winding and auxiliary winding displaced in space by:
Options :

1« 90°

- % 180°

3 % 270°

4 % 360°



Question Number : 68 Question Id : 4151191668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1@'90‘0
- % 180°
2, x 270°

4 % 360°

Question Number : 69 Question Id : 4151191669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of following is the least efficient type of 1-phase induction motor?
Options :
. % Capacitor-run type

- % Split-phase type
- » Capacitor-start type

4 « Shaded-pole type

Question Number : 69 Question Id : 4151191669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 70 Question Id : 4151191670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To reduce commutation difficulties, the universal motors are designed with:

Options :



, w very strong magnetic field
-  Weak magnetic field

- » moderate magnetic field

, % commutation problem does not depend on the strength of magnetic field

Question Number : 70 Question Id : 4151191670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 71 Question Id : 4151191671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the perimeter of a square is 328 m, then the area of the square (in m? ) is:

Options :
1 ® 7056



> o 6724
- % 6644

4 % 3528

Question Number : 71 Question Id : 4151191671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| % 7056
. v 6724
- = 6644

. % 3528

Question Number : 72 Question Id : 4151191672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A sum of € 1,47.378 is divided between two persons A and B in the ratio 4 : 7. The difference between thrice the part of
A and twice the part of B will be:

Options :
, « 326,796

. x 70,196
2 % < 53,502

4 % 372392

Question Number : 72 Question Id : 4151191672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
. v 326,796
. % 370,196

.« 53,592



i » 72,392

Question Number : 73 Question Id : 4151191673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sumple mterest on & certain sum at 6% per anmum for three years 15 € 1,200, Then. the compound mterest on the
same sum at the same rate for fwo years will ba:

Options :
;% T724
- % T816

3 o T824

4 % T1216

Question Number : 73 Question Id : 4151191673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

L% T724
. « T816
2 v 3824

i » 1210

Question Number : 74 Question Id : 4151191674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ith of a number is 36 more than the number itself. The number is:

Options :
1 ® 64

o W 56
i 48

4 ® 42

Question Number : 74 Question Id : 4151191674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 ® 64
o W 56
i 4 48

4 ® 42

Question Number : 75 Question Id : 4151191675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of the present ages (in years) of two persons A and B is 5 : 4. After six vears, the ratio of their ages will be
17 : 14. Then. the ratio of their ages after 12 years will be:

Options :
1 % 15:8
> #® 15:13
z o 19:16
4 ® 19:18

Question Number : 75 Question Id : 4151191675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
. % 15:8
- % 15 : 13
2 v 19 : 16
L% 19 : 18

Question Number : 76 Question Id : 4151191676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A shopkeeper bought 245 articles at T 30 per article and spent ¥ 2.450 on their packages. He sold theze articles at T 50
per article. The percentage profil camed by hun was:

Options :

1 % 20%



o % 22.5%
5 & 25%

4 % 27.5%

Question Number : 76 Question Id : 4151191676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

| % 20%
. % 22.5%
- v 25%

L ® 27.5%

Question Number : 77 Question Id : 4151191677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A and B together can do a piece of work in 4 days. If A alone can do it in 12 days. then B alone can do the work in:
Options :
, % 10days

- x 9days
- % Odays

4  0days

Question Number : 77 Question Id : 4151191677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 # 10%
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Question Number : 78 Question Id : 4151191678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A right cireular cone of height 15 em and base radins 15 em 15 carved out of a wooden sphere of rdius 15 em. Volume
of the remaining wood (in %) is:

Options :

1 & 25

5 % 37.5
o W 50

4.« 75

Question Number : 78 Question Id : 4151191678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 ® 20
. % 375
o 50

4« 75

Question Number : 79 Question Id : 4151191679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A boat goes 8§ km downstream in 1 hour and takes 4 hours 10 2o the same distance upstream. The speed of the boat in
still water is:
Options :

1 #% 6km/h
> « 5 km/h
=z % 4km/h

4 % 3km/h

Question Number : 79 Question Id : 4151191679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. % 6 kmih
. v 5 km/h
-« 4 km/h

4 # 3 km/h

Question Number : 80 Question Id : 4151191680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mean of 20 observations was calculated as 56, But it was found that the observation 61 was misread as 64. The
correct mean will be;

Options :
{ « 55.85

5 % 54.75
s % 54.85

4 % 54.65

Question Number : 80 Question Id : 4151191680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. v 55.85
. % 54.75
- % 54.85

4 % 94.65

Sub-Section Number: 2
Sub-Section Id: 41511976
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 4151191681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Select the term that will come next in the following series.
ayz, bwx, cuv, dst. ?

Options :
1 ® erq

> of eqr
= # cpq

4 % ets

Question Number : 81 Question Id : 4151191681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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ayz, bwx, cuv, dst, ?

Options :
1 % erq
2 v &

2 % €PQ

4 % efs

Question Number : 82 Question Id : 4151191682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ihe two words m the word pair given below are related m a particular way, Find the option m which the two words are
related in the same way.

Emnife : Instrument
Options :
1 % Needle : Iron
~ % Ornament : Gold

= « Hammer : Tool

4 % Shoe : Leather

Question Number : 82 Question Id : 4151191682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



ﬂ!ﬂf&wm:mgm#aﬁ:&wﬁﬂwaﬂ##mﬂﬂ?lHﬁmwmﬁﬁnﬁa‘rﬂﬁ{ﬁm
TH T FEOS £
EICEE

Options :

« S FER

| HTE[NUT: FEOT

5 o Es-ﬂ_ﬁ'rﬁm

4 & r\ : 2

Question Number : 83 Question Id : 4151191683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language, SMARTER is coded as SFUSBNT. How would RIVULET be coded as in that language?
Options :

1 # IRUVTEL

~» % UMFWVSJ]

5 % SIWVMFU

4 v UFMVWIS

Question Number : 83 Question Id : 4151191683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ofy vE &E MM 7 SMARTER & SFUSBNT & w9 & Frar =mar & &t =1 & smar & RIVULET &r
Fm B smeen?

Options :

. = IRUVTEL

> = UMFWVSJ
= % SJWVMFU

4 v UFMVWJS

Question Number : 84 Question Id : 4151191684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Two staternents are followed by two conclusions. Assunmg that the statements are true even if they do not conform to
real world knowledge, decide which of the conclusions logically follows/follow from the statements.

Slatements:
|. Some fruits are veastables.
2. All apples are fruits.

Conclusions:
. Some apples are vegetables.

I1. All apples are vegetables.

Options :
, % OnlyIfollows

- % Only II follows

=z % BothIand II follow

4 « Neither I nor II follows

Question Number : 84 Question Id : 4151191684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 85 Question Id : 4151191685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which option will replace the question mark (?) in the following number series?
5.9 k3 24, %, 57

Options :
i 35

o W 29
o 31

E 33

Question Number : 85 Question Id : 4151191685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

i 35
o W 29
T W 31

4 & 33

Question Number : 86 Question Id : 4151191686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e numbers m three of the followmg mmmber-pairs are related m a certaim way and one pair 15 different. Find the odd

number-pair.
Options :

1 ® T7-50
o % 3-22
o o 5—32
4 % 9—64

Question Number : 86 Question Id : 4151191686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :



o R - 22
3¢ 5-32
4% 9-64

Question Number : 87 Question Id : 4151191687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the two signs in the following equation should be interchanged to make the equation correct?
g+-4—-6+9x3=10
Options :
1 % xand -+

- % —and x
5 ® —and-—

4« tand+

Question Number : 87 Question Id : 4151191687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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8+4-6+9x3=10
Options :
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Question Number : 88 Question Id : 4151191688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two rotated positions of a dice are given below. Which number is on the face opposite to the face containing 27

6 2
4 lE

Options :



Question Number : 88 Question Id : 4151191688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
1 % 1

2_%3
s v 4

4_%5

Question Number : 89 Question Id : 4151191689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following diagram, the square stands for ‘rich’, the rectangle stands for ‘honest’ and the circle stands for
‘businessmen’. The numbers in different sections are the number of persons in those sections.

+— Businessmen

Rich — 4 / 7

Honest —»| 12 f

How many rich businessmen are NOT honest?

Options :
1 # 10

o o 12

5 W 15



4 W 17

Question Number : 89 Question Id : 4151191689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

1 ® 10

" 12
o W 15

4 ® 17

Question Number : 90 Question Id : 4151191690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language. MONKEY is coded as ZNOEKN. How would BANKER be coded as in that language?

Options :
| « SNAEKC

> % CEKNAS

. x QNAEKA

4 % SKENAC

Question Number : 90 Question Id : 4151191690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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., % CEKNAS
- % QNAEKA

. # SKENAC

Sub-Section Number: 3
Sub-Section Id: 41511977
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4151191691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the full form of the term ‘DBMS’ used in Computer Science?
Options :

, % Duplicate Broadband Managing System

- % Designed Based Marking System

5 Database Management System

, % Double Bundle Management System

Question Number : 91 Question Id : 4151191691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 92 Question Id : 4151191692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which year was the Scheduled Castes and Tribes (Prevention of Atrocities) Act passed in India?

Options :
, % 1975



- « 1989
s % 1992

4 W 1997

Question Number : 92 Question Id : 4151191692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :

. % 1975

5 » 1989
o % 1992

. = 1997

Question Number : 93 Question Id : 4151191693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following countries has the longest coastline?
Options :

, % Philippines

- % Russia

= % Indonesia

4 + Canada

Question Number : 93 Question Id : 4151191693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 94 Question Id : 4151191694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In terms of age. as of February 2019, the oldest prime minister in the world belongs to:
Options :
, « Malaysia

- % Singapore

=z % Russia

4 % Japan

Question Number : 94 Question Id : 4151191694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 95 Question Id : 4151191695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to World Economic Forum Report 2018, which country has the highest life expectancy?

Options :
| % Japan
5 of Hong Kong

= % Spain

4 = laly

Question Number : 95 Question Id : 4151191695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Sub-Section Number: 4
Sub-Section Id: 41511978
Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 4151191696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

UNESCO has declared 2019 as the international year of which scientific phenomenon?
Options :
1 % Laws of Motion

> % Archimedes’ Principle

= « Period Table of Chemical Elements

4 % Avogadro’s Law

Question Number : 96 Question Id : 4151191696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Question Number : 97 Question Id : 4151191697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following nations has withdrawn from UNESCO in 20197

Options :



1 « United States of America
5 % Japan
- % India

, % United Kingdom

Question Number : 97 Question Id : 4151191697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 98 Question Id : 4151191698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the new name of Faizabad District of Uttar Pradesh. approved in November 20187
Options :
, w Prayagraj

>  Ayodhya
- % Nandnagri

4 % Sreedham

Question Number : 98 Question Id : 4151191698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 99 Question Id : 4151191699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following has been appointed as the Chief Election Commissioner of India in December 20187
Options :
1 % Nasim Zaidi

- % V.S.Sampath
3 « Sunil Arora

4 % S.Y. Quraishi

Question Number : 99 Question Id : 4151191699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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Who among the following was the chief guest for the Republic Day Parade 2019?
Options :
. « Cyril Ramaphosa

- % Lee Hsien Loong

- % Sultan Hassanal Bolkiah

, = Najib Razak
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